(Jﬂ,‘f/;’aﬂ)w‘f’ )J“/ '/Z’J‘”’L‘”CJ/”

0/ . , .
AS ’///‘_):/ 1Pl
\)y' = tany cotx —secy cosx

V(@@ +V)y(zy -y) = af

Y)(xInz)y = xlnz-y
Y
Ny =% OV +y")
A)(z"+zy)y =2/ -y +axy+y"

Pyy” +y" = y¥ Iny

r _ Yo+y-¥
V)’y T Y-z-y

Ay’ = cos(z+y—Y)

Vy" ==y

Vo )azTy = Y@ +y") tan Ltz y

YNy = (Qz+¥y+))T

V) (2" tan'y—\) tany de -z sec’ ydy = o

Wy = =5

\Y) (sin(zy) + 2y cos(zy) + Y z) dz + (27 cos(zy) +Yy)dy = o
VO) (y¥ - sy + Yo) da+ (5 + Yoy + Yy) dy = o

V) y  secY rdr—(V-Yy  tanz)dy = o

\W)(@YyIny+ay’ -y sinx)dx+(%x‘ﬂ+%a:Yy+yV cosy)dy = o
\M)Yydoe+x (2¥ Iny-V)dy = o
'/ o ; . - ) . '/“{
.ﬂd"/))bfu/b/cjldflt.ﬁtdx +y IV (Yy" - z)de + (Yy© = Fay)dy = oJ’/’)J}W‘J’/"U/b(\i

. T .
(.,:Ld f C’(LJ/'/’; df /!/?’).ﬂ‘f//if‘/,:/w y(x¥ +y" = Vdo + 2(2" +y" + V)dy = o Dl (Y-

dy - yd
d(tan™ Q) - T4y - yar % yvx
x ¥ +y




